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QUESTION 1

An aggregate is composed of twelve 36-Gigabyte disks. A drive fails and only 72-Gigabyte spare disks are available
Data ONTAP will then perform what action? 

A. chooses a 72-Gigabyte disk anduse it as is 

B. chooses a 72-Gigabyte disk and right-size it 

C. halts after 24 hours of running in degraded mode 

D. alerts you that there are no 36-Gigabyte disks and wait for one to be inserted 

Correct Answer: B 

 

QUESTION 2

Which one of the following commands is used to specify the destination appliance(s) that are allowed to replicate (pul
data from the source appliance? 

A. optionssnapmirror.allow 

B. snapmirror release 

C. snapmirror initialize 

D. optionssnapmirror.access 

Correct Answer: D 

 

QUESTION 3

Which one of the following actions will cause a currently in sync snapmirror relationship to fall out of sync? 

A. Modifying the /etc/snapmirror.conf file on the source storage appliance 

B. Modifying the /etc/snapmirror.conf file on the destination storage appliance 

C. Runningsnapmirror update on the source storage appliance 

D. Runningsnapmirror release on the source storage appliance 

Correct Answer: B 

 

QUESTION 4

Fill in the blank for the following statement using the best answer from the choices that follow. A snapshot is a frozen,
read-only image of the entire Data ONTAP file system that reflects the state of the____________at the time the
snapshot was created. 
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A. qtrees 

B. directory 

C. file system 

D. storage appliance 

Correct Answer: C 

 

QUESTION 5

For each Open Systems platform directory to be backed up to the SnapVault secondary storage system, you must
execute _____ from the primary to secondary storage system. 

A. a temporary copy 

B. an incremental copy 

C. a scheduled update copy 

D. an initial baseline copy 

Correct Answer: D 
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